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Question 35: Select the appropriate preposition: ‘Are you doing’ anything special
____the weekend?’

A. for

B. with

C.on

D. at

Answer: at

Explanation: MA1R% 25 e (IRM® weekend F13%® 27, 97 T preposition REE at
Ak on ﬁgi?li 920 R AT | American English 4 on 9192w *J AR British English 4 at
TIze 2T | ANAT (ARG, writing 97 (F@ British English ISa+ FfF ©12 at 2@ 0% Sod|

Question 36: What is the plural form of 'sheep’?
A. sheeps

B. sheepses

C. sheepes

D. sheep

Answer: sheep



Explanation: Sheep a7 plural ‘sheep’ *F | 5% % noun 3= (FISENF singular 3 plural
form 932 (I514: Aircraft, cod, deer, fish, cattle, series 3&51™|

Question 37: 'Sweet are the uses of adversity’ is quoted from Shakespeare's —
A. Julius Caesar

B. Macbeth

C. Comedy of Errors

D. As you Like It

Answer: As you Like It

Explanation: 3@ SRterd (5 A67F1E William Shakespeare 6w As you Like it T
TO@H [F6lT ICTF ¥ T Duke Senior FF bfFa 07 Sfefie et J|

Question 38: What is the verb form of the word "ability’?
A. capable

B. inability

C. unable

D. enable

Answer: enable

Explanation: Ability 9%f6 noun I1& verb form 2T enable 933 adjective form (I able.
SIS ‘en’ prefix (FMST verb sIf8® X1 (INS: ensure, enlarge, enforce, enlighten etc.

Question 39: The word 'equivocation’ refers to -
A. stating like an author

B. a true statement

C. free expression of opinions

D. two contradictory things in the same statement

Answer: two contradictory things in the same statement

Explanation: Equivocation T (e EIEFEI\;T?J ] oIS STed: A6T & Two contradictory
things in the same statement.



Question 40: "Life's but a walking shadow, a poor player, That struts and frets his
hour upon the stage, And then is heard no more;” These memorable lines in
Shakespearean tragedy are spoken by -

A. Lady Macbeth

B. Banquo

C. Duncan

D. Macbeth

Answer: Macbeth

Explanation: “Life's but a walking shadow, a poor player that struts and frets his hour
upon the stage” is a quote from Macbeth by William Shakespeare.

Question 41: Which of the following words is spelt correctly?
A. authoratative
B. autheritative
C. authoratative
D. authoritative

Answer: authoritative

Explanation: 5% I Authoritative I1d 91 anfaa; 3@y, Fog7|

Question 42: Find out the active form of the sentence: "By whom can our country
be saved?"

A. Who will save our country?

B. Our country has been saved by who?

C. Who save our country?

D. Who can save our country?

Answer: Who can save our country?
Explanation: Passive R [By whom + aux (tense Wﬁ){) + subject (object (¥ T1H)

+ VPP?] structure A3 active FATR f9F3: Who + aux [Tense SI9I131] + verb + object.
ferzrsy St sfd% Tod 2@



Question 43: "All changed, changed utterly: A terrible beauty is born.” This
extract is taken from W. B. Yeats' poem titled—

A. No Second Troy

B. The Wild Swans at Coole

C. The Second Coming

D. Easter 1916

Answer: Easter 1916

Explanation: 5% ST SIENIS 67 T891E [bta a6 AR 23, I Se9aT (J9
FEAFO IARIFT SOOI Q73 (33T TFT IWH Yeats T ETOSIR Sate,
BIWAR O 3 W.B. Yeats 301’ Ffte F@Ew1 Sfefie TefeSE 92 ST (A& (18
Bleley

Question 44: 'All for Love' is a drama written by—
A. Francis Bacon

B. William Congreve

C. John Bunyan

D. John Dryden

Answer: John Dryden

Explanation: Father of Modern English Criticism 10 f925Te 239 S1f2fwt® Jhon Dryden
a9 feifd@ Heroic Tragedy =T All for Love. f#8TIET 8 aBfdg A& SIE &y o1 (W3 T fa@
9% 6@ SR 6@ | ‘Love for Love’ drama 63 F6fFwT William Congreve.

Question 45: Sitting happily, the chicken laid eggs. The underlined part is alan—
A. noun clause

B. coordinate clause

C. independent clause

D. subordinate clause

Answer: subordinate clause

Explanation: ‘ Sitting happily, the chicken laid eggs.’ sentence 64 Sitting happily AP
subordinate clause. &< af6 Principal clause ‘the chicken laid eggs’ =1GT a7l o T
FA© I |



Question 46: Caliban is an important character from Shakespeare's—
A. Othello

B. Hamlet

C. Macbeth

D. The Tempest

Answer: The Tempest
Explanation: Shakespeare 95 6@ (¥ 916& The Tempest 7 Jre ¥ tfFa Caliban. a6

3G TH-N -9 FFfed BTl (7 Prospero 97 $©3 REE AF | 92 A6 &S 75
tfda- Prospero, Ariel, Miranda, Ferdinand, Alonso.

Question 47: What kind of noun is 'river'?
A. Material

B. Collective

C. Proper

D. Common

Answer: Common

Explanation: (I noun faf%g (F1ET 5@ 1 JRI@ 9376 e Crfas e 31 359 Jei
HIHTF 91 (AT ©IW[@ common noun JT| (IA: Man, flower, girl, bird, fish, river
o3|

Question 48: 'Caesar and Cleopatra' is—
A. a tragedy by William Shakespeare

B. a poem by Lord Byron

C. anovel by S. T. Coleridge

D. a play by Bernard Shaw

Answer: a play by Bernard Shaw

Explanation: SIg{a% @& M6 (I8 716531 George Bernard Shaw #fte a3(6 A165
Caesar and Cleopatra. 4 J6@@ el fFSEEIS (@A TG FfFTIH ST 97 A& FEfad
STF (FATT TA® | TR ‘Antony and Cleopatra’ drama 6 William Shakespeare a3
qfoe e Fefs|



Question 49: Identify the right tense: 'My father before | came’'.
A. would be leaving

B. had been leaving

C. will leave

D. had left

Answer: had left

Explanation: SrSIe3 TR b FT18 S#Te I N ST A& (M6 st e (fea past
perfect tense 2¥ AR (IB T AR (BT simple past tense 271 AT@, before a3y after
conjunction RROTE 392w 2 ‘before’ 97 ﬁga‘past perfect A3} T past indefinite 2F| after
a9 ([F@ past perfect oF A% past indefinite fjﬁk‘?rl Structure: sub + had + v3 + before +
sub + v2. Structure: sub + v2 + after + sub + had + v3. JedR 5% S8 2 had left.

Question 50: Which of the following words is spelt incorrectly?
A. lexicography

B. glycerin

C. idiosyncrasy

D. reminescence

Answer: reminescence

Explanation: & 119 reminescence. Sf3F I T reminiscence (TJ{F_@ NERIG] ‘ﬁ(

1)

Question 51: Who wrote the picaresque novel titled 'Tom Jones'?
A. Samuel Richardson

B. Horace Walpole

C. Laurence Sterne

D. Henry Fielding

Answer: Henry Fielding
Explanation: 3@ Wif2(e1d THa9s 99 a0 Henry Fielding 3f6® Slaies S5 Tom

Jones. a%& Picaresque Novel I 3| A Y@ SHATCT STAGH ¥ CIfF (@ T ST
TG I (W3 | (T OTF Jfwval M@ TS G = |



Question 52: The story of 'Moby Dick' centers on—
A. a mermaid

B. a shark

C. a crocodile

D. awhale

Answer: a whale

Explanation: Mf$a sT2f&7& Herman Melville faif2@ F1saT S Moby Dick aFf6
fSfar f@, (T TAATTT A1AF Ahab AT =1 21 (FF FIACS fF@ARE Ahab 99 gfermeas
FIRferd Ifefe @@ ST

Question 53: 'He prayeth best, who loveth best.” —Who said it?
A. John Milton

B. John Donne

C. Lord Byron

D. S.T. Coleridge

Answer: S.T. Coleridge

Explanation: (R™165 JE1F Seies F4 S.T. Coleridge a7 feif¥e fF251e el The Rime
of the Ancient Mariner. oY Sfaifie TR0 9% FfI0T (IR @F TR

Question 54: The controlling sentence of a paragraph is known as—
A. content modulator

B. terminator

C. thesis statement

D. topic sentence

Answer: topic sentence
Explanation: 93 paragraph 95 954 idea o (¥ I 7181 FF1¥e 27 B I Topic

sentence. afb SXTF® (FT paragraph a9 SN (771 7T | A FIEER Topic sentence (& STE
@& paragraph 47 controlling idea R wIfef2® 41 231

Question 55: Choose the correct comparative form of the sentence: ‘Very few



boys are as industrious as Zaman.'

A. Zaman is one of the most industrious boys.

B. Zaman is as industrious as other boys.

C. Zaman is really industrious like other boys.

D. Zaman is more industrious than most other boys.

Answer: Zaman is more industrious than most other boys.

Explanation: Positive degree (@ plural 9113 very few 3T comparative form @&, Sub
+ Verb + comparative form of the positive form + than most other + extension.

Question 56: ldentify the appropriate preposition: Your opinion is identical __
mine.

A. for

B.in

C. by

D. with

Answer: with

Explanation: Identical with ST X FET Fo™©F S [HEF Nomed #Fle 28711 ©1R
AT with REF|

Question 57: 'Paradise Lost' attempted to—
A. justify the ways of man to God

B. show that Satan and God have equal power
C. explain why both good and evil are necessary
D. justify the ways of God to man

Answer: justify the ways of God to man
Explanation: John Milton Aft® 3251 3215735 Paradise Lost. at® i &% 8 fv a7at

A7 T (@ Rebe 2R FIRF MET NEF 46 5ET B Ko7 Ao FE®| O I4
7Y, a8 NP6 Attempted to Justify the ways of God to Man.

Question 58: "Oh, lift me as a wave, a leaf, a cloud! | fall upon the thorns of life! |
bleed!" The extract is taken from P. B. Shelley's poem—



A. The Cloud

B. To a Skylark

C. Adonais

D. Ode to the West Wind

Answer: Ode to the West Wind

Explanation: As thus with thee in prayer in my sore need.
Oh! lift me as a wave, a leaf, a cloud!

| fall upon the thorns of life! | bleed!

A heavy weight of hours has chained and bowed

One too like thee: tameless, and swift, and proud.

- Ode to the West Wind by P. B. Shelley.

Question 59: Who wrote the short story 'The Ant and the Grasshopper'?
A. Guy de Maupassant

B. O' Henry

C. J. K. Rawlings

D. W. Somerset Maugham

Answer: W. Somerset Maugham

Explanation: f3371e S 8 (bsTd (713& W.S. Maugham 93 F53T &3 e[ st
The Ant and the Grasshopper. ST S¥TF T (1837 2@ 4 T |

Question 60: The word 'vital' is a/an—
A. noun

B. adverb

C. verb

D. adjective

Answer: adjective
Explanation: Vital 3T adjective. SINTF® suffix ‘al’ (AT TABTET adjective 2| (IA:

Political, Special, Social 2eIfw|

Question 61: 'To get along with' means—



A. to walk

B. to interest

C. to accompany
D. to adjust

Answer: to adjust

Explanation: To get along with a3fG phrasal verb I8 S ST fSef1@1, H==1F Fa711 ©13
5% Ted T to adjust.

Question 62: The synonym for ‘panoramic’ is—
A. restricted

B. narrow

C. limited

D. scenic

Answer: scenic

Explanation: Panoramic a5 IRl W@-W 37 foa SRFW| BT synonym 2 scenic IE
o7 Y |

Question 63: The antonym for 'slothful’ is—
A. playful

B. sluggish

C. quarrelsome

D. energetic

Answer: energetic

Explanation: Slothful 93 I 31 S IF antonym & energetic 97 I FJ |

Question 64: Alexander Pope's 'Essay on Man' is a—
A. novel

B. treatise

C. short story

D. poem



Answer: poem

Explanation: &% s12te7d Neo Classical I Augustan Period A7 Siies (19 313
Alexander Pope. ®1F &fb® An Essay on Man 91513 F64104 80 Essay V133 a6 7o
23f6 FfFe1l 92 FAeF fofF ofF ToRTTe FFHAWER ST V5 FE AT T@F I

o Qe |

Question 65: 'By and large' means—
A. everywhere

B. very large

C. far away

D. mostly

Answer: mostly

Explanation: By and Large 3G Idioms and phrase 315 english meaning ¥ Mostly T/
JRAT Y THT O/ TS |

Question 66: Francis Bacon is an illustrious—
A. journalist

B. dramatist

C. novelist

D. essayist

Answer: essayist

Explanation: Francis Bacon fa@@4 Elizabethan JETH A3 R&ES F8dIeqw, Trifas 3
TEFIE ARTSNST | SRSy Toa1F (F@ i fema sy Mifers | fSfer Essay a1 o3& I5a19
(F@ WS ST FE| I ‘Father of English Essay’ 97 37| B ANFRYT II@HT BF©
‘of’ ==f6 e | Of Truth, Of Death, Of Marriage and Single life 2e7% i 7% fFame
Essay.

Question 67: ‘He could not win but learnt a lot.' Which part of speech is the word
'but'?

A. an adverb

B. averb

C. an adjective



D. a conjunction
Answer: a conjunction

Explanation: And, or, but, yet, however, only etc. 2T coordinating conjunction ﬂT‘{@EIT
SMe1EF SR clause (F & F@| (7 I ACT but X a conjunction.

Question 68: 2log105 + log1036 - log109 =?
A.4.6

B. 100

C.37

D.2

Answer: 2

Explanation: 2log105 + log10 36 - log10 9
=1log10 52 + log10 36 - log10 9

= log 10 (25*36/9)

=log10 100

=log10 1072

=2 10g10 10

=2

Question 69: I FFINEF RS (T ToFAT e 1 Hfod AT Fe?
A. 5o ¢%
B. Ff® 2%
C. Mo Yo%
D. Ff® ¢o%

Answer: $fe ¢o0%

Explanation: &f3,
Ffo =2x-x = x
B0 (%) = (Fhe/ FIT ) x 100%
= (x /2x )x 100%
= 50%



Question 70: 936 TRF f: R-->R, f(x) = 2x+1 TE kRIA® 2 f-1(2) 97 T F67?
A.0
B. 1
C.5
D. 1/2

Answer: 1/2

Explanation: y = 2x+1
Or, x = (y-1)/2

Or, fi(x) = (x-1)/12

So, f(2) = (2-1)/12=1/2

Question 71: ABC B_Q(GT B (F1F AfS e 8»° 492 AB = AC| If% E a3k F AB 432 AC<&F
AFOIF (W FE (I EF || BC 27, O1k(<T LA + LAFE =?

A. Syo°

B. SYo°

C. Sov°

D. Seoy°

Answer: YOX°

Explanation: f6t3, ZB = 8%° 432 AB = AC JedRk £B = ZC = 8v° AT, EF||BC 133
AC (13 £LC = ZAFE [93”@F (F19] ¥0aF LAFE = 8v° Ay, LA+ LB+ LC =\bo°
= LA +8%° +8%°=\Sboo = LA =\5boo-dbo LA =v8° JedR LA+ LAFE = v8°
+ 8 °= YR’

Question 72: I log10x = -1 3T, O1E G (FE0 x 95 A2
A. 0.001

B. 0.01

C. 1/10000

D.0.1

Answer: 0.1

Explanation: \log_{10}x = -1 \Rightarrow x = 10*{-1} = \frac{1}{10} = 0.1



Question 73: (W -5, p,q,16 SHBT F[@0 AF, ©RET p 3 q 97 N T IATHE -
A.-29

B.2,-9

C.-2,-9

D.29

Answer: 2,9

Explanation: 5. ST S, d= 16-(-5)/3 = 21/3 =7
LPp=-5+7=2
©. q=2+7=9

Question 74: i-49 A9 N« 97
A. -1

B.i

C.1

D. -i

Answer: -i

Explanation: SI9a1 &, i = V-1, 2=1,i3 - a3 i = 1
iA-49=1/i"49=1/i*48 *i =4=1/1%] =ir[i=ir3 =-i

Question 75: S 932 R 97 JMEF TG (FEG?
A. 8¢

B. S

C.s8

D. vy

Answer: 04
Explanation: SUTGa 5T = Vs xax

= \/(\G)x\L,x\l,x\gx}xQ)
= VX LXYI = VY

Question 76: 1-1+1-1+1-1+ ... + n RYF J@F @5H 3 -
A.0



B. 1
C. [1+(-1)n]
D. (1/2)[1-(-1)n]

Answer: (1/2)[1-(-1)n]

Explanation: 93T« §TAIGA S¥ 54, a = 1 43R SETET AT, r =- 1/1=-1, WA n BAF
@d N8, Sn= a(1-r*n) /1-r=1(1-(-1)*n}/1-(-1)=1/2[1-(-1)"n]

Question 77: A6 ST IGEE H@TF (FTT 56 B° | IF IR FOSEN TL?
A. do
B. 20
C.\%
D. wo

Answer: wo

Explanation: a5f6 3% 92959 (%@, AfSfb (I T 932 T2QS0F TLTAT AT FEY

L ERIGI

\theta = \frac{(n - 2) \times 180"\circ}{n}
AT |

RIGH

168 = \frac{(n - 2) \times 180}{n}

22T THFFA TN P

168n = 180n - 360

180n - 168n = 360

12n = 360

n = \frac{360}{12} = 30

NSAT, T2GHbF I T 9o |

Question 78: A6 YFATR fAgEd F2F WE X CL.AL. 932 THel x (1.5, 2T, x 97 M=

Answer: 3



Explanation: 236 S53TR fAg@d (F@, I 36 e 0= 23, ©@ o7 el (I 93 )
KIGE

h = \frac{\sqrt{3}}{2} \times a

A (S, ©1%

h = \frac{\sqrt{3}}{2} \times 2 = \sqrt{3} \approx 1.73\, \text{CSTf3{}

eI, AT [ FEN CIfE 1 SR 1.73 13 (51|

Question 79: I 4Vx3 = 2 7T, O x3/2 =?
A.8

B. 16

C.64

D. 4

Answer: 4

Explanation: 35 S $4(9:

7 1P,

S. ST SAFFAB (A -(F ST I

\sqrt{x*3} = \frac{2}{4} = \frac{1}{2}

3. 9919 G2 AT Iof F, T@ ISP6 79 2:

x"3 = \left( \frac{1}{2} \right)*2 = \frac{1}{4}

©. 92, -AF N 44T FA0© [ITF I, T AT ST W -
x\3/2) = \frac{1{2}

RICUE BT

xMN3/2} = \frac{1}{2}

Question 80: P(A) = 1/3, P(B) = 3/4 T A 3 B I18I9 37 P(AUB) 47 9 $67?
A.3/4

B. 1/3

C. 93 (P9I 97|

D. 5/6

Answer: 5/6
Explanation: (M3IT AR, A3 B T STeosik P(A N B) = P(A). P(B) T S, P(AUB) =

P(A) + P(B) - P(A N B) = P(A) + P(B) - P(A). P(B) =1/3 +3/4 - 1/3 *3/4 = 1/3 + 3/4 - 1/4 =
4+9-3/12 =10/12=5/6



Question 81: IFI AT | 3x+2 | < 7 AT SIGT AT
A.-3<x<3

B.-5/3<x<5/3

C.5/3<x<-5/3

D.-3<x<5/3

Answer: -3 < x<5/3

Explanation: &3 99391, |3x + 2| < 7 Rightarrow - 7 < 3x + 2 < 7 Rightarrow - 7 - 2 < 3x
+2-2<7-2Rightarrow - 9 < 3x < 5 Rightarrow - 9/3 < (3x)/3 <5/3 -3 <x<5/3

Question 82: 6a2bcaF: 4a3b2¢2-97 AT NREF SI.HN.3. AT @62
A. a2bc

B. 2a2bc

C. 2a2b2c2

D. (P62 a7

Answer: (FA62 BRY

Explanation: ST Sfe
ST, ST, 8. 7 8 3T S
SOk, 6a2bc A% 4a3b2¢2 FAFT HRETF ST.H1.S = 2

Question 83: AfR1R! v valence band 93 conduction band -
A. ST AT

B. {62 ¥

C. IEF & NE

D. SSIFIT A&

Answer: 3STITT A
Explanation: sfFa1& 7w Fe1te (7 5573 sfarf (FRET 27 1 (Sod [ 2@ {8 531ze

| HE (IO 3EFL SET FANIIR ATIZT TS 8 (T TS fATReIg SofFe
(overlapping) ?F1



Question 84: TGN (G NIIT AT -
A. e1E GaReT

B. fSereTd @raned

C. W FIRRGH

D. o7 (@RIGF

Answer: fTed (@FRGA

Explanation: GRS (36 AT AE o1 (@RGT | el @R a6 Ias
VST @ AF(6 (FRG AIF T TS TA® 93 97 T@Fw (= AgBr.

Question 85: TTFMBF T Nb® SeWd (FH AT SAWE JG TI?
A. TIHIH

B. SGIfrmT

C. I

D. MREE

Answer: FREIET

Explanation: Sfod SF6T J%(e SRR FE AREGW | IS FRE O Mt BieT it
CNA® 28I @ Mfod SFoT Ia F@| TRE6 (NO:) JIF R Sfew sefgers MG (¥
MRETE 2812 FE | TR % MfTCe Sfewa Ay AT FRESES AT I |

P SO GG FACTT ST TRE @ G T I @ FNRE O AFRGHHR T3
FE|

Question 86: Hf(IF AT IAT AT (FIAG?
A. febifra 7 s3
B. febie T b
C.febifiafay
D. febita T »

Answer: feb1fa fa »
Explanation: 1% af5TG 31 febifae {7 5 2= febifee 7 a7 936 79 T agpfeFena @ 8
Mfeite G|

Question 87: (F FIAE FTI-AFF 200 TF ©F (@ -



A. SRGANRfS/ARTH
B. ST

C. I

D. 3™

Answer: 3

Explanation: 1% 3 IFGEIE SRFN 2T, O (@ Froma 3¢y 277 i 0@ | 2"
T Framg FRET 8 A oz, PRl axafF STes Feg 2@ =ma| 93 F1 A
AT 5 3@ 18 Fo6T 97 R MaIF 5= = SO a9 (731 27, M@ G F1FE 8 febifde
AT ST T 7T (TT (BT AT (STN Frowias 2o MNE) 932 (BT Ffo 1 IH Ao T
RIRT

Question 88: FIGEIEF oMol S ©1F (F ST TR ©F FETT—
A. B

B. ST
C. Ty

D. F15eT
Answer: FIS

Explanation: W G EIF sifeteTeT AT SIS J7 SR SR¥el &1 At @Eg
TOF T FRACESIE @FEF [ I TREESET N G AEF 9 TeNTer® S3HzRe
FE| (NFMHSE FIEH ST F2S A3 A FeTS Moo 9T I

Question 89: '(FTAF-8¢:fT" F1?
A. 935 TR

B. NASA-99 eV (Gfeesrs
C. S[&F ol A3 553

D. s o1 976 T7

Answer: JJF FteT a3 517

Explanation: (F5T&- 8:fF 71 Hige O YRATF a1 S AFho[8 a6 s=f{Ie |
s&de A6 936 FemE a2

Question 90: HTATET IS SIS FATH ST TH© —



A. 3[R
B. (@A ST
C. HaAIeTT ST

D. (T CoOlFTREH

Answer: (FFTA CHIAAREG

Explanation: IFCIAT 330 (IRAFSTST BFosT a3 IAETEIET CoRNST (IT: @,
RRETOINF §b 932 FAN (TSR FRIFE CHFNRETE SR IR AFSIF SIPE
FH© 3T | (TF: AT THRT ST S o ST (I OFT AT AUO-SRETAAT b3S I@T
Iy AR (R | IRIGTS fVF-Or T SIRPEea T (TN T RO
TRHRS, (RATHHS AN fTrse, ST (ofd FA1 7A@ 432 e [TerR sEm= Siaps
FI(© IT6 (K|

Question 91: NS AN 5557 T(EAT—
A. R3NH+

B. SO3-Na+

C. R2NH2+

D. COO-Na+

Answer:; COO-Na+

Explanation: ST ( R-COONa) 8 fEoramss aFfe i FEa et A8 1| et
Tg® AT AFT ATHF 5181 A e ( R-COO-) A1 REBTAGTS I AT HATSF
CTITGIT A ( Na+) ©1sl ¥ 3|

Question 92: (F1F (STSIG (FHAF?
A. THTE Sl 7916 36

B. RIS s Fyifersyey

C. a6 : (ST

D. TFEEAT : 7916 2%

Answer: FFEGEAT: 7716 2P
Explanation: 931 S IFFGEAT: TG 23 (STSIG (@ | FTIT I5TRGT AR

FE A I B fro@e o | fofer T svae = IR *nforg ey e wofy
AT AFHAGH [N PG AT T @THT FE|




Question 93: AFSRYA, WIGIANG 9T IFET-AF (I SN -
A. 39

B. ST

C. febifsre

D. cenfGer

Answer: (G4

Explanation: AF512 q7 S3T6F (= (Ao W 506 9F IFE JAI5NAF FG1E6 (57

SHCF) | (AR ITHEET SHFEO© Tored RO aMFBING Ford RGP 3R (Y) AFhed
ASTH TP (AN SO 1 (of 27| SAEFTRIT ZACN (Ao G sifEe | (Foref: Zesyferay,
fREmEnfe

Question 94: FFIFIE (@A FHG?
A. 39°9o’ FRET TIERT

B. 29°wo’ T3F A/

C. x0°wo’ & Wik

D. Y9°wo’ TfZFel JIHRT

Answer: 3©°9o’ GfEFe IR

Explanation: SFI®I@ (27 T Tropic of capricorn X wiXpel (SIS SFFe AT STHET,
JF ST S TR T (3 FETHA) TINF [Fa (07| FFAHMS (7 AL0IHT S50 |
TFAFIS @6 20°0o’ WEF AHRET A6 |

Question 95: TR =1 SITIA] (FTAG?
A. 299° (IHES

B. -399° HIEARR0

C. o° (BEG

D. o° (Felfod

Answer; o° (Fdfed

Explanation: &% & (Absolute Zero) (% 4% NIACIF NEIRT NI SIIATI SITNAmF
IF a9 N 3% O° (Felfod AV -399.5¢° (HBEG AT -840° HIFARR0 | NI 97 (A FH
SIETal 28] 8T 97|



Question 96: I (SIS T3 TSI (TN FO?
A. ST

B. J@F IS

C.afegm

D.

Answer: &}

Explanation: 36 ST (STE68 SR SIeT@ale (J18 15| 51 (F (1 Afera g3
SRR 998 CTRY FAC© M| 956 A [ TCTE @ 58 o T fen 9127
TG I [T ST W@ |

Question 97: fag (46 Structured Query Language 73?
A. Java

B. MySQL

C. Oracle

D. STEF NISE

Answer: SIE@T NIBE

Explanation: Java 2 Programming language, af6 Structured Query Language (SQL)
qT| FHE MySQL 2% SEGEE ST TIbIES Management SSb3NF | & aft @1
Language ¥ Oracle 4% ¥9(d9 Object Relational Database Management System 31
Oracle FCNE T3S I3 66 A6 (FETf TSNS FE |

Question 98: FBIFEG (FTSNATST ITTT Hostname~F IP Address- Seqm F(F -
A. FTP Server

B. Firewall

C. Gateway

D. DNS Server

Answer: DNS Server

Explanation: Domain Name System (DNS) X1 a5« 936 a3f& I 3CEE0
TRTFFAE ST STINZE 9T THEEGH AN I 616 F@ | DNS @SS
FAfFANE AT (TFG (@27 (SURIT: www.example.com) FRISHIF-TFHT AT BF=F
(SurEEr: 192.168.1.1) FET FE@| IS (FIH IBIE@E FINIFIA (P SIS (G FA©




519, @ DNS Server (X6 A7 306 a3 IR &1 (73, T (3%t TazaF1at
faftg SRE (e 1|

Question 99: fET @ MGG Cloud Computing (AT SWHFIISTT TIZNT FE A2
A. SaaS

B. laaS

C. PaaS

D. CaaS

Answer: CaaS

Explanation: F1&T F155e a7 NS NG ©ft | TSTSE 2E:
« AIFBTNSTS (AT (laas - Infrastructure as a service).

- A% fefe® (TAT (Paas Platform as a service).

- IHL3WE f6fad (7T (Saas Software as a service).

Question 100: IHBF-2F FIST THHH (FIAG?
A. Azure

B. & ET NISE

C. Cloudera

D. AWS

Answer: AWS

Explanation: F1GT 155 4 (I9F @I T (Foy M= S NET AATSH 2
SIS 3T ST (Amazon Web Services- AWS)|

Question 101: f96T (F19 TRITT W REG® 2T M2F @6 Computer System 32T
FAM© @S 1 932 Computer System~F TITF SN F@ T WY FAT 77?2

A. Phishing

B. Denial of Service

C. Man-in-the-Middle

D. Ransomware

Answer: Ransomware

Explanation: Phishing: s (% a5q 9361 Tafe I 929 FE 209EF J5[&5To ]



“NFTod O 3T | (TFF: FRF AFT (F6T FNEF ©¥5| Denial of Service: 7 7@
ST XET (FIEAT COER (FIET FHCTH a1 (1R (Service) 590 FIRFRIGE J1HT (WIF
9%fG (F1T| Ransomware: 951 9%F Y@ WA T A0 FPIOLE [TORTE TS
FIE O FIFITE OIF (AT @ FA] (F [0 I 972 [IXNFINF SEISTATS
TEm FE (77 93 SEATe] 7 FF S FIZFTE! FTR (3@ J[7 (I) 7S FE |
Man-in-The-Middle: aft SMBTF T 9F NFEF (ST N, (TN ANFIAIFIHET 9F6
AT FRTTFVA T (Gh] FARAE@ I (7 |

Question 102: SCSI-a7 J(F FI?

A. Small Computer Standard Interface
B. Small Computer Software Interface
C. Small Computer Storage Interface
D. Small Computer System Interface

Answer: Small Computer System Interface

Explanation: SCSI a3 7= 21: Small Computer System Interface. af6 SaSfa
FEISEIF 972 Ao (@A fEeREIE MET BI6T AWH-T41 2o 2|

Question 103: f[IEF (@1 fEORNG 2756 3 IASEH TR RTE F FE?
A. Scanner

B. Mouse

C. Projector

D. Touch Screen

Answer: Touch Screen

Explanation: BT6 f3e X1 93 438 ~1FTes fefes s =v T17 897 (31 fFa
(TTTFT® RO M) =t T (SB1 36 F1 27| 9 YIS NCCEE TR Po (O6! 39076
F1 T

Question 104: f46F (F1 Octal 51:2Mf6 Decimal W2 ¢¢-5 SAQeT?
A. ¢t
B. 99
C. B9
D. b9



Answer: 49

Explanation: When 55 is divided by 8 , the quitient is 6 and the remiander is 7
When 6 is divided by 8, th quitient is 0 and the remiander is 6.

Write the remainders from bottom to top

(55)10 = (67)8

Question 105: f46a (F146 systern software §3?
A. Linux

B. Android

C. Apple iOS

D. Mozilla Firefox

Answer: Mozilla Firefox

Explanation: Mozila Firefox 2 936 S@IFIGSF | Fel5{ui@ Linux 2T FFISEIET 930
@62 EHH T8N 9% Andriod, Apple i0S T (NAREH A TN Te 3|

Question 106: 3 (I (@ 3T (A 2N (NI FART F06 (P19 TCP/IP TG1FeT
JI9R19 77

A.FTP

B. RPC

C. SNMP

D. SMTP

Answer: SMTP

Explanation: SMTP a3 7¢& 2¢TI- Simple Mail Transfer Protocol. SMTP ST&TEe® 2-(373¢
IS 3 B-(3e 5127 FA© 5370 2| a6 FAGT FAET POP3 97 WX I F47 27|

Question 107: (T FESEIF (AT VS (A2 Sl FETTENF FBI@DBA NHE FH 27 ©IF
T

A. Program Virus

B. Boot Virus

C. Trojan Horse

D. Worms




Answer: Worms

Explanation: FIS6IE Worms T AF(6 I8 Malware Computer Programme 371 fa@&@
FF FA® AN AT Iy FPSHNE RIS TO(® M | FPSCIF (AG3FF FIZF FE TR
Af% =fTEF =T A5 FEFSHIER FA1TaIF TS ST (77|

Question 108: f46a (F1F ST 4G Standard FTESFAC T2
A.ISO

B. ETSI

C. 3GPP

D.ITU

Answer: ITU

Explanation: 4G 3 SGS (TR (A58 J(eF 5o Fo| I356 4G HE6H oT1R
IMT STG®SG -4 ITU 91 &S Fe] 0 FAE|

Question 109: f9d (149G Open Source Software?
A. Adobe Photoshop

B. Microsoft Windows

C. Zoom

D. Google Chrome

Answer: Google Chrome

Explanation: 8t (T (3:@&f3: Open - source), IRAF S T3 21 936 [AH0F
STHCSATT SHIN G (6 THG FRANTO1H TIF SFIATT FE | ST (T FHo3TH
SHIEF AATOH TG 2T FATIHTIEH Ay ST PEANA0: B3 (FTT, FIFG a3
TFECHET N N AFOTHONT Sa¥a| Open Source Software : Google Chrome

Question 110: fAT (F19 Protocol-fb 3BT1aE0 B AWH-TuTad fagrera] foaf*ee & AE?
A.FTP

B. DNS

C.TCP

D. HTTPS

Answer: HTTPS



Explanation: HTTPS (Hyper Text Transfer Protocol Secure): HTTPS T (A68 I
SIARS (TSNS els A6 (ANEIFT AT ZBIEEEG PSS 9% 27| HTTPS URL 8F
2 ‘hitps:// Ta@ aft (@ESTEFF T (Sb1 FH fafee FE 18 IW (FTET SFITREG SSL
(Secured Socked Layer) Certificate 261 Fa] A& ©(F (12 8@ W126169 URL f6 HTTPS
2@ | SR SFIMRG T YAfRFe AFE | 9% Aq{F55 FAT (GBI FIFG A3% NEEF NEY Ay
@S TG I TF FAW® M J| ©12 HTTP 97 (6@ HTTPS & 7% |

Question 111: Piconet $1?
A. Wifi Network

B. Wide Area Network

C. 5G Network

D. Bluetooth Network

Answer: Bluetooth Network

Explanation: 305 2T 456 SHTGRF (VE3TF N F5Y 2(& (A1 HIF FE 9516
(FOI TIREFE FE EORER 15 @1 9776 FHFEE 9o 1 ereiys SRy 973
RS ST 720 S| A6 9356 PO FEeRTGE Teft WHd 7 fEeRISEE S
NG FHH Ao (7|

Question 112: TIEET 5T I (T ©aft INE? -> 14.PNG
A. S

B.8
C.v
D.x

Answer: 2

Explanation: ¥ S fSeEH fagm wist (73 AR, A6 wisT (W31, 97 MEF fSeEs J©
TIST (W1 1E, ©12 AES BIo blsT (731 T | T8 : 3

Question 113: P 432 Q 12 ©121 R 932 S T (A1 P-99 (% 2T S-3F ©1R | O Q I
R-a9 -

A. 3

B. ®1}

C. forer



D. 5161
Answer: 5161

Explanation: I@g P 99 (R(TS 99 8R ©12 R 952 S I® P 99 R (1, SR P 99 SR R 97
331

Question 114: COIET N (INF CH, NEF T (OH -
A. o

B. 317G

C. 7R (I

D. ST
Answer: o1

Explanation: C5elTE AFSTGINT (I3 B T e | SEF FNCTIT (ol ol |

Question 115: 165135 If% Peace 2T, ©& 1215225 -
A. Lead

B. Castle

C. Loop

D. Love

Answer: Love

Explanation: 165135

PEACE

AT ATHNEGT FA@ A 97 27

1215225 @ IATIEAR A SV TR ©1R 8 1 3T 12 fte 2T 93 F61 I
121522 5 LOVE

Question 116: faGd fora (G Feft fags s=? ->15.PNG
A. soft
B. 36
C. 86
D. b ff



Answer: S uf6

Explanation: I fag@d feer fedft Saama a5ft fA=re (n 3@ e oft (=16 fags
T3 7@ | AT S FE B @6 © 51 3] s ufT|

Question 117: SIS %] $a00 [EF HEFT I Fo 85 F1© 2@? -> 16.PNG
A. 8 (TS

B. Yo (3

C. v (&

D. b @&

Answer: b (&S

Explanation: SIa{w@ S@H A1 8 FEIET o b (| ok IF U SHEF A @
RO oo b (381 ARy , A syfFen =

R PNV AC

9 127 (0 / ©1F 2T S

Question 118: Y05 NIETH b3 JINE SFATH 7, 932 IREF 59 Wb FT I1F f&ef?
A. B8FIER
B. (TRETE
C. FF™feqF
RRIECIE)

D
Answer: @@

Explanation: S SIIF BFIE 2, 55 932 b THIF 8T ©S ST IZAF | S,
B, 8¢, X (BFIE FTMCF, S, B, $¢ Ab TTGTF ©IE 39 JT6 THTE|

Question 119: g, 9, Y0, 58, ......... ¢ YT [ 06 Fo?
A. N9
B.\v
C.3



D. V>
Answer: Y»

Explanation: ¢ (¥ 9, 3, "T{F

9 (AT Yo, © TTIFY

So (ATF 48, 8 AT(FT

OIRE AFIF ¢ TRF 2@ TS 88 + @ = 5D

Question 120: "MEMORY" %65 SIX91d A< (FG? -> 17.PNG
AF
B. ¥
C.o
D. ¥y

Answer: ¥

Explanation: MEMORY" *%f6g SI¥d Jfef<¥ YROMEM

Question 121: T1-6fF® I (F19 257 I7G? -> 18.PNG
A. L8

B. LY

C. %

D. 4%

Answer: b

Explanation: 23T, SNWQ =(Px8)+9=0I+93=19> k?fﬁ%?m; =(oxY)+d=\p +
D=330TAQYE = (A% ) +5=63+C=04Y

Question 122: (FTE fF5F FIHT 00 2T AT 20& e (T 2 FI ©F NS (F1 (6
o 8F 7J?

A. how

B. what

C. who

D. why



Answer: why

Explanation: why I(® (34 J3F, (F1 [F57 FI St ST why JfeT|

Question 123: f9EF (F1F SR THSEN IR IS TS TEA®R?
A. foee, fawda, faarTe, faqm, ST, fasst
B. ferfe1, foramies, fafdw, fawsf, forere, foramy
C. fafsz, fassf, fawne, fawa, e, sy
D. faw (|, forene, g, faamTe, faf&, fasst

Answer: faw(q, faeTs, fa@m, f@ass, &%, st

Explanation: v-3-3-5-3-5

Question 124: @ PLAY-29 (F1G v52@ 458 RHYME-23 (F1G 8949 2, ©1R(
MALE-29 (1S 3 F—

A. bl

B. Y833

C. L3P¢

D. b3v9

Answer: b)9

Explanation-M=6,A=2,L=1,E=7

Question 125: a2 NESGm© M@ AT F62? © ¢ B H© 3B
A. 38
B. Y
C.3»
D. @8

Answer: 98

Explanation: ¢ + ©v= v
P+ =59

SO + B =D

D + 59 =98



Question 126: 936 (TATFEIST® T3 0BT IS BT FB1F F1o1 I TR AF B fifaca

P61 (FT I AYTFE?

A &

B. a5
C. s
D. &aq

Answer: $3d
Explanation: 3t (T3 ITEEE0® 0BT AT 3% HBTR F161 TR0 (T &, ©IRE ST Sifel

T G FI67 v3-(® ¥FE | 7T REIE, 36 I3 T35 Taan [T & |
O, FBTH P61 A AIFE, HAGT 161 Seam@ NFE |

Question 127: UNESCO F© SIfHE 3 (ZFIEE Aediod Moo T3 e T
(M?

A. 5P FOFF V9D

B. X0 q(®FF R00)

C. 53 Jq(®FF R00)

D. Y9 909F9 22>

Answer: Y9 9939 Y92

Explanation: SETE 5525 NIETF 39 A®FF 3 T (FFIMHE I@INoF Moo =5
eI FPfe MEm®| S2e: TEF 3 FEFIME TFTF SR THF T ISR AT 27 93
TFIA TAFF NRAT BfeTte T, I9F6, SHF TT @@ T2 (v | NIF ST A7
e 7218 A7 S TSE0H 97 wo BN AT A FIETF THCT IRANE A6 NS
T e |

Question 128: IRTECTE IHTHT THF (F?
A. ST Nem

B. o fe1sr

C. I3 JFTy

D. SIfE (&1

Answer: |5 (16



Explanation: SIAT R IR NETS SN2 | ST H8a2 Doy S (F16
ARG AT TN AW A2 S0 b e T AR NI AT (FTEA] I THHTH (T G
SR (FIGR TR @A | ©1R I I, IRATWCT RITHNE AS©RF, T53F 1 FAFEE
ST (T |

Question 129: IR TLABIT TTF J1T 1?2
A. A

B. OTferd

C. (TS

D. 13

Answer: ‘i@

Explanation: MBI Fete1d A @a foF (3@ 32 &t Bl IRAR NG a8 8 Tom
S| T3 TN TSN e ST J] TSN FFEFTG N (6w, e TN
IRATCCTT ST S350 |

Question 130: IRACTH JRGF GIFT (Sl ATBITBIE (FT S0 ASG S [=eT?
A. STTGG

B. 78
C. afa@

D. 3757
Answer: 357

Explanation: 357 - IRNGCT & 3 WfZel-5& ST, GIFT NIFARY, STRITAE, HATIF 8
CIERIGH

STNSG - 20 FoVET, JROF (AR |

3 - IBTT, RIF, TENRL, AT |

I - 6, TEIW 3 NFSS BB |

Question 131: IRAWCTE THTS! Y& Foo JGATT@ " [TFT (Ao Bf¥e Fa127?
A.95q

B. b &«

C. 8% &

D. »9¢ &



Answer: Y9¢ S¢

Explanation: SRR F18lo] I STUIE! (KO fACHE JE@@ 0 Sl ST
fSfate IR TR Y, 7 T, 7 [T 8 FareiF Sfie giie @
AT PO NETS S| GG Sae T a2 SfE e F41 23|

Question 132: JfFIFTF TIFEF AT 3 AL N (F RETT?
A. OISSHe AREM

B. % o5 oA

C. OTIW J&Fe R

D. 9 936 9% FHFEHHA

Answer: 4 935 A5 SRS
Explanation: So A3 $395 NI IRATGCIR S0 FIF1F 1} [T FI91F 5Ifdw 27| a2

NASTRA AL ol 2 5@ CT4 JJF 72, fofey 7 112 SF3 A F1FAS 2 51Aw
P ST, T3] ©ISTGwiel SIREIT| AT 3 AT F - 9,936,957 FIAFSA |

Question 133: (FF THIWF AN IRTTSTA AP TBAT A AF®© T 8F?
A. o

B. 39

C. 7

D. 3[fersy
Answer: Ny

Explanation: T8I TSI TR bSweb-seot S g &g | a3 07 IReeng i
M AfSo® el | TS el 2T MR S0 ST @ IR AP FEA | ©TF JNI (AF2
BT AHG BF 2|

Question 134: IR IYT T F71F (F f=RETT?
A. T

B. ST ST Ty

C. aSren

D. 3[f*fw e 21
Answer: 3@ FfeT 1



Explanation: 35 TG $93 fel@ IRTF T @R R 37 F AT | TIIONS fofel
TR YRR Y 2 5959 T | ©FF S et e A1el | fSfef? Aena 2 T F7131
=TT FooCeTel AT F¥ A 8 WS A1 | ASS el ool Ao O F1&e 7777|

Question 135: ST (F1 FHAFT ST IRFATCT AT FEA?
A. RS ST

B. AT NHER

C. 2 i

D. %1 @

Answer: 5 2@+

Explanation: HT-RE 5116 Te@d S fofv SIae a5 FET| 4 ST IRNT 3 JOTH
M e | RETF-TR: o RABET @ IRTT AT | (7 T9Y Ted 900 XIS, IRAT
T A2 AN ©ISIIANT T FERE |

Question 136: (FTT A NI AEFIF TS T RITHEH @ e [
S ST AT FAS 2

A. 88

B. 89

C. Sov

D. Sox

Answer: SYoX

Explanation: GNifeiS SIfYFFI(PS 2T SF AMFIS [H6 FAF ANFF T@® | IW (@1 FIF0ET
O SIEPTR (Y (FS PO 27, ORE 4 (F@ TGH 56 ML Sox Seyrey e
TR [T fF6 ANE@0 FIF AP T@®|

Question 137: IRT@E I3 Tal9-
A. Isfeire

B. IGAE

C. 91994
D. 93 Gd

Answer: A3@4F



Explanation: IRATWCTR IS TIFIT T3 KT T&@6d | 92 TH6te INFAFT 2O
NEFIET I Foo] 73 NE | AYTANG 2T TTSNET AT | g9y slfos Taforo a2
TSI TN (SNG JelF NNWd Susha| fad1few 24|

Question 138: BSTI-aF 7 SIfe3f& $12

A. Bangladesh Salt Testing Institute

B. Bangladesh Strategic Training Institute

C. Bangladesh Society for Telecommunication and Information
D. Bangladesh Standards and Testing Institution

Answer: Bangladesh Standards and Testing Institution

Explanation: BSTI - a5 ‘Tﬁ?f’rk_ﬂ' - - Bangladesh Standard and testing Institute. a6
IS T S ¢ T

Question 139: IFSEH FIFC (F1 Tgal (T YT FART?

A. &35 8 |
B. T35 3 A5aa50

C. 9137 8 Sfexn

D. 5357 3 AT

Answer: 3357 3 SIS

Explanation: 3o T8 1@ e 919 JifS oot fqtem 8 14 Fife’ (Divide and Rule
Policy) | 93 FfeT HTFO® TE FEF Spot T S IBRF IRAT AW ©I5T FE o 0T
SO P 2NORCT JT I57e5 A AABS | IFSTE B JII57 3 AN A1 o T@a IR 8
LR

Question 140: ‘S5 NSeTT (F ST FEA?
A. T8t JfETe Tax

B. CT& T A (F HoW[T 35

C. ST NG U7 A ST

D. ST FICTH

Answer: AT FICTH



Explanation: O ¥SfCTT SfeSTe] A3 S F107| S1Fe RN Ja57a3 4589
ST ST (TEBIE BT FRARme@a SR [Aensa SIETs ST FIC™ bIa1H e
e AeVT FEA|

Question 141: "IF SRR (@ AT AFCT HFIME, A F gferte T N6 (F 601
FEN?

A. I BIYE
B. k7 I3
C. FIOI AR IFATH

D. ST TSI (Bt

Answer: S STHSIF (GIYR

Explanation: ‘SIE SRA (& TG AF0T (HFM, AfE 5 gfeite = snafod T6e
SR STHHIF (BT T JFFR SN Ao, TON NFFR SN0 N34 | ARG %
(BIEST 55 G, 2033 T J@QIIAT FEA|

Question 142: (F1 (77 IR SATF SIWH ey e o1 FFhe MaEm?
A. TREEAT

B. sfarf=r

C. 2’fe

D. =T fas

Answer: SN@aT fed

Explanation: IR "NRFH! P& T TEEeT Y003 AETF Sy fEo1Ea smma
ST A IS ST T 18T IR S BT AN NI ST e
(el (7|

Question 143: FRACTCT Ju JPTSIF T2~
A. 3o
B. w3
C.x¢
D. 8%

Answer: 8v



Explanation: T3S f3& FgeMe3-205> ST IRTNTCTE F& 7 (MSIF AT (16 ¢ofb|
3055 STETR AT FFIS (ST I 861 MR (HTAETT ©X30© 8¢ | TSI 3033
9T AP HeTeT ST IA ¢ofB|

Question 144: fEF (@1 AFFHF TFTTAT ST FNTAY STFF AL S T2
A. STSTa

B. faTEa fofd

C. FET

D. 39

Answer: §i(Fg

Explanation: §3&g FT81 Fore 371 e aHf6 o1-T1e1i2 sasy, I e I5MEa
G TFT (SDIX HE S IASTH) 3 TF10 27| AAFI6 BF0© HeACET FIEF 517 O
e 20T AR TE A6 TP e eT| AP TICH RIFFT bd© NEF b AT ZF1Fe
AR | AT T AT TOFEH FI0] ‘YNEY IFI6 27| 92 IEAFE rfdm F&E
FATAN HTFF oo, “FIE TG 2HTR FAFY, NI 5T ANEF YN | SHF I
SECTY, e a8 P SfeW (v (o1 oy (Fee | ” sfasTa F3 =Terd M a3 T feran
Q]

Question 145: IRTAECIT TSI TOIF FIM SITF] ATT?
A.xf6
B. oft
C. %
D. 8fG

Answer: 8f5

Explanation: SITTea! IRACICTR AT 8(\0) e (w SIHE STG@ET 61T ToNF G&F
T ST TAE RS MA© SN TSI el M7, BRI TH@CT MBs@A N6 T WJ&
STeT, ©12E S T 26 FE@ (b G1RG SEFT YIFE |

Question 146: I H{S A0 =T THT' (ST S APPSO (T FoT TA T2
A. XS (ZFIMEF v¢8

B. 23 M6 vav

C. 30 affe S L3

D. 39 TE Sy



Answer: 29 J6 SDU Y

Explanation: 544 SIFTH ¢ 8 & (FFANF MFIET TR oo [EE T oP

WIS 9F NCHE AT ACIF T5F (¥ (T4 B T2 % TR TS
AROHTH TEF ' W%l W (7T FEA| 19 (HHINS CT I TR [SEHTAT FEHT b 7]
CTT FEF| 0 TG APAFONT 2T TSI ST FAT 27 MRF FINET TR 57T (@ | 3 I927
9 I IRAECT b W] G e F7 27|

Question 147: "A3NEF A AR J[&HF T, IIE A FH TSR S - e fre
F(E A2 (T (G2

A. 3G 6 5

B. b fSHTT 29y

C. 0 JE 5298

D. 9 36 59

Answer: 9 6 529
Explanation: 9 16, 5595 W 35135, CT4 ST T G FA GIFTH (@R JI9IT

SfoF ST ©IF (Wel | (TR SCIR 5794 CT (ST FRAT FET(RET IFE T DA
(EF TRAW, AEF T FH TS TR |

Question 148: IRTCCT N 517 (1N 27?
A. frarseg

B. AT

C. Ry

D. g9

Answer: S99
Explanation: 33 5 3@ 93 §96@F TaBH0 FRTGO| (@19 3E 557 (F6 YO 57 F1

2| IR (TN SHFST FE (ST Fehs TN AFRSNE 5 F1 27| AB1R I 57| Ty foe
(ST TP 61X 41 27| FIN, FBIEIG, TSR |

Question 149: IR (FT (ST FIEE (@ BT I TE®R?
A. BB
B. {5



C. 5IP5TG
DRCILSIEISIE]

Answer: GTIITS TS

Explanation: S35 FfARNFSIE &1 TN 2fefFe 27 SEGT TEARGIT Sw a8 S|
JRIAECT FEAN S L6 &1 I TE®| TIEE G (56) &1 I5ma s Ao JIdf%e |

Question 150: ‘4 TFTOT IRTTT NAINTH (FTA SN[ HFGS 2
A. T 0

B. Slq[(&=% ¢o

C. =% Soo

D. Ie 8%

Answer: 9e[(®1 8%

Explanation: S/5(aw 85: 81T JIHTeT| Iy ©'b: RISEH THTel| Iqrav ¢o: AFAOF
CTAW | S Soo: I (FGS ST |

Question 151: IRATWCT TN AWNIHIT (SATTT) FEF IA[OS 27?2
A. 593 ST
B. 99 N[
C. 529¢ T
D. $998 ST

Answer: 98 AT

Explanation: IREAWCT T AMHSAI (SAST) AfFe 2 $»98 ST | 0T I
AN (SASHF 3 SRITTAT) DS 2T S-S T, 2033

Question 152: IRTEER fFGHT (GDP)-(® (F19 AMed AW NI (@F?
A P

B. frg

C. Afisy

D. (5741

Answer: (N7



Explanation: SRTMCTT GDP a9 8T 419 (971 A9 | GDP (@ (797 MO A9 ¢5.88% |
31 AR AT ©9.09% | F AN ATTT $5.¢0% |

Question 153: Y030-303) IYTw(F &G (GDP) 73(%7 27 3072
A. €.4%%
B. ».58%
C. 2bY%
D. b.58%

Answer: Y.58%

Explanation: f6fga=a 205¢-5Y 8@ v FFINE, 203% IRIA@CT HET:2371 & (BBS)
0%0-3 IYIREF HOT® GDP'F Ao Aqw 8 SJ@d TF 973 Mg S FFTT FE| 4
RTT ST RT o9fad 77 U.58% | ST (T, T AfSF THH 2033 Wrﬁ’rﬁﬁl%fcr‘

o3fad T 9.3¢%|

Question 154: fATRF FE@ IR [FTF-I NTF (77 R ©ifiFrge FE?
A. S T 2038
B. b T 2086

C. S TR 305
D. S IR 305¢

Answer: 5 6}{'1]3 R05¢

Explanation: (I (W78 SRS ST & TSF 8L TATH (VF BF FE 8 TSH 53¢ XS T
(W ey T SN (VOIS OIf T I TIIRF | S TR, 205¢ IRACTT T35 O a3
foryo Ao P [TIIRF IRA@NE (AT F™ AT (7 RoTF eifiFes FE|

Question 155: Fo SHGARE-X F S SHGTRG AT?
A. TS TGTR

B. S@YIE WGAR06

C. TISErHT STGARE

D. 3 AISISH G206

Answer: 3 SIESTASH S SGTR0



Explanation: 353, STTTGRG-Y X(E Y SIS G35 | A6 §IB (¥F woo (AF 8oo
fPETRBIES My AT FAE| 923 SIGNRE0 AMTRSAT FGTIf T fARTS T FIE
SISEIOIC]

Question 156: IRATGCTT (AFS AFFIAT (Perspective Plan) SHITHH $67?
A. R03d-3000
B. 2038-300%
C. R033-30¢0
D. 203%-308)%

Answer: 203%-308%

Explanation: 2¢ (FFINE, 2030 ST61¥ ANAfGF Ifww (993W) 4 fFeiy (affve afFgan
521 | 97 (T Y035-3085 | afb (ofF F@E® SEnFe o dife fFe1 (f52f%) a7 St 2@
WIS GRAFA, SPTR SPRISFAT 932 ARACTIE SFS 3 P&l (7 ReiF f[{ega &
AHIFTT FAT| SET, TN (AF© AFFTAT (IS [ 2050-2038 |

Question 157: (F1 (W (¥ "AFF Q-7 bAT 37?
A. RrE

B. fsif=3m

C. fafaar

D. feofafar

Answer: oS

Explanation: oS0 STETR 9 fEoER feSAfaTE FowTat feSaeT (e J3E e e v
IRET 9F e O] PIHEE [N A (FFAEH NI Fah T [N@F ST (FRNNT (Ge
NS HTAF AT SIS BF 271 97 29 T NAF FFMHF ST A0 (T AN
TSEH VT AT TG o] 27|

Question 158: (1 ST AT (RN 724 FE?
A. Robdo
B. 2053
C. 0%
D. 20,8

Answer: 048



Explanation: {531 M@s (Me@® 2@ S@g e 936 AT el | $5¢8 S WEF
CTfe@e (el [ofFer Fes (HRET TAEHT Ti2a REE 38w &I (7ol Taaeie
o frT fove AT 8 RSTEEE T Ja A 27 932 SHR A6 2058 ST FIFT 3@
fo%5 2@ (AT SAEE w3 FE& (77|

Question 159: (F1 (W (SIASER Afo@ T AF 7I?
A. STRTET

B. e

C. f&e

D. IfTfean

Answer: 3SR

Explanation: W3 SNEFTE TNSSIEF (W (SIS @e| A7 IS FERTT | TSN
I NG Jursifed (w1 (Sfasy@e| a7 afSEH (7 R STAET, Fefay, Jifde e
ENGRIEEICCIREIERR]

= Ve

Question 160: "(FRSATHT FoAI
A. femea

B. Sed (R

C. it

D. S

@ (AT S = Fe?

Answer: Si

Explanation: ST FT8 &2 A3, Siwa st $oiafes s I Wolf Warrior
Diplomacy 3T (@35 (@T&T Foa1e 20T AF6e | S FaETaT 83k 5 Siwa 35& e
FoIANGF MFNCEF [T NABT ST (T Ty BT A FAGH Tlg FA© SiA] (TS (I
ST T (T (& ©1F JeT Wolf Warrior 308 IR |

Question 161: f6F (F1 (71fC ASEAN (S169% I?
A. 85T

B. F@IfGA

C. fe@mea™

D. 3%



Answer: 233}

Explanation: > b9 SR w2 3516 uf%e-37 A" Fonafod 8 s(afed 5275 ASEAN
(Association of South-East Asian Nations) 5f@ X1 97 Twd 78T SFTST, 2EANART| a7
FONT 55T Sofb | TT: REAEAIAT, METAFT, Refer=e, fSoirsfa, AR, FAR, FEMGT,
3, fo@earT 8 RN (I INF @F— MTV a7 FILM (W BCS =1 $17 T1F1)

Question 162: f4Ea @1 (W6 f&-v a7 STo5 F3?
A. ST

B. 3

C. frrg

D. 61T

Answer: 61T

Explanation: 3[fers ST (TISER (36 f&-v (Developing-8) | QRTH &S THTAa!
FIHE e AT 9T SIS $559 ST 2 (6-b Afefde 271 a7 5Tsfy (w1 w51 72m:
FRAT, NFJ, TAFT, TR, 2, @F%, Br1E 8 @ =T

Question 163: World Economic Forum- a3 I’RN{F WFWWGQ SIS) ?Y?
A. SIS

B. §fF¥

C. Tt

D. wlteo™
Answer: W™

Explanation: World Economic Forum 5295 NI 38 ST J ST AR 3 NS
Claus Schwab ¥ af6fd® 27| JfeT=a REFNSF THoHNT A7 wlen™ 97 JF
STCHT AO® 2F| 205 W WEF a7 Sewet@ 8% ey fRag a7 arden (w3 23

Question 164: "o19¥™ §f&" (19 6 FEF M IS 27?
A. I 8 ABNEIA

B. ©1F® 3 A%

C. AHNAIT 8 (Mfo@e 284

D. MFIF 3 8199




Answer: TNFIF 3 190

Explanation: S5 §f& X1 STH0F FHTANE! a7 IRIGE A 932 TFINH AEIS ARIT
I A7 M NHHe 930 N §fe | o 92 §fed TE s u¢ ST NFI 8 ©rHes
& FEHAT 59 T r@d JIITNS GG | S §fe T8 27 So I, v 6| §f&h
T ST ST (FIASIeTT FHTFOIT F=7e] 2|

Question 165: TASTEONE INEF (FIF I FGTE TENFT AFIGT AT AT BF 37?2
A. ((TC6TF AT I (1S

B. S99 AT TN A5

C. 356 A O (T

D. AT AT T (THAE  TH16 s 1 7@ ®

Answer; JB1IF NIF ¥ THIF 96 fed F41 T@®

Explanation: STeSER J ST AFEIAAT FE SNFT ATTT| 97 ST 1 SATTG]
AR/ AR 39| SO FAwa 20a2 o= AN HOTRT (NI NI D613
FHTNE SATTOSIE SIS T AT I ST BF 27|

Question 166: 35T 734 (FH TE AJO® 23?
A. (BT
B. =IIfEs
C. 17
D. &

Answer: 850N

Explanation: % IR (AT 9 AT, 2035 JSHONT FoMIST AN TEF FF-3Y
STCHT SO0 27| SEAT, 2033 HE F-39 Aef(D© 27 E AT (74, FPIE 93 2030 ST
FI-b AD® F WIF AT ARG |

Question 167: IRTAMWT 3 SR &S F=Nfvre SENF M I6e §fe FU O I?
A. 080
B. 090
C. 2038
D. x03%



Answer: 03Y

Explanation: 5> SETE S ST IRATTH 3 SO NET wo IR (NN SH Moy Tebet
B IFEe 27| IRAWCTR SIS (T AT 8 SR THAT! (FRENST 92 §fete IHT
FEA| | IR IR T TNSTF FT 0¢ IO [FOES 7 BF© (77 > TS
PO | B 2030 S CF 3@

Question 168: (F19 (T1F RSHEEF Fiog T I7 23?
A. St

B. 3@Ifer

C. (NS

D. 33

Answer: 35(@d

Explanation: & 3SETCIA (W1 933 RO 3T 26 (W1 36w | A7 ASET [FT |
ION (ACSH FIME @ | RSEER RN AN (FTSTaTe] 23T RS
RO Fod S T 771

Question 169: STeET T S3NAS 2T TN (F1 (M(T?
A T&F18

RSB RRIGIC)

C. T8 @™

D. =78l S

Answer: S8l 9

Explanation: S¥IISIE@ (34 F& Swoo-Sroo FFBIH f3rs STeel s1G S| e faiet
S SO ST SNSFT I ARG | AR T2E FOTS STTed ASHT FEF JIATS (A

Question 170: ¥« AR (F1¥F International Union for Conservation of Nature
(IUCN) =f$fSe =32

A. SR, T3

B. 5285, TRIAETIS

C. S0, (@

D. 528%v, BTN



Answer: 558, ™

Explanation: IUCN 33 8 MNFfeF o0 RIFE I F16 F@1 >89 N ARSI
FAGATEAI (FHTIE BT S8 JE IUCN 51f5® 21 97 97 waH 1S, ROENIS |

Question 171: (FF b AEF A FIT (Gf6G (Camp David) e IHET He=pioe
RTRETT JB7 Jof POIAGP N1 T1T HH?

A. Fo ST 8 ST

B. $@o 8 IRARA

C. fafzar 8 31

D. 56 8 firg

Answer: 619 3 578

Explanation: 59 ST L9 (TCHTF SRR RIS BHER (AfS6 @R Sare
932 ETATICETH ST (AT (@FEF 97 AET FIE (SO0 (e TSHe 231 4 5 IqE
A FPEE JiEFe HaR Sed HEE ME a3 fire e Si5fe o FaE1 a2
Hed HE T 3 BTATICETH N FoANSS ST 7 FE | Hellel AT Al 972 SR
(@ FrEE 9RgE $41 23

Question 172: 219 &G ST 'Fas6 B IRTT (Concert for Bangladesh)
(TR ASS @ eT?

A. FNEE[T

B. @roa

C. 93«

D. for833%

Answer: 4833

Explanation: $>95 S & 35T 4833 Mo IfEsa 1T MG IRATWCTT TFwa
TS AT ORI WS AT NEOFOIF ST SIS (TOHAF Af3@ AT 932 ©FF T
G TRC T oG BPHTaams 8 DENT FATG B IRATGT I NI FEA| AT© T
8o ROH TP SHFFS foeT| 9 FasIIG 200 ST SAMGTR T T ORI 9T | T& FAb
Thite T FEF 37 oo, afFF Foib, 58 Ifasa, & 26w, e Foe, T30 o
A3 A0 FF61F Y|

Question 173: nfe:@®@g a3 AfF3ma 3T IO oW Fo AN Fel5?



A. S TRT
B. ¢ =g
C.8d%d
D.x®g

Answer: X 929

Explanation: 5384 NI So SN TSE fa1Tal AT FAFT BF 27| 97 TN

oty 27T b ¢fB 1 ¢ft B 932 Sof b IRt o A faarsrar siffgww sifde | Srat sTwssr 3
IRE@F TV NN 2T | IR T M dfedng o Fo ffow 27 972 ¢&e woeng
W ¥ 2|

Question 174: I@Hf6F AWed AT [T619F FI TG Sl fT1ow 2?
A. fod T
B. e =9
C.519 %7
D. 93 %d

Answer: 93 =g
Explanation: $»8¢ SR X4 I International Court of Justice sfd® 231 aft snfesEa

TN IAFHE| AT Y9 19T (@IS T (R8T @ | ICJ a7 [[eEs T4 v¢ 59| [ReEasma
CRFT » 24| 97 Tofed (W © T2F| 97 ISNT Tofe G SIS (JFA1Z) |

Question 175: 21 3 A0 TSN SHOIF HGRe-
A. A0 AP

B. 913989

C. Sfeaa faga

D. feaifaas

Answer: fo@ifgag
Explanation: 578 TO141(® SEGIT SINRIGCT 2T SNISTEF BT A SHNRIGCT JF

M oI I IO 56| RO FE SYRe-ATP IS TR S6IET BT [Feia
RSt STelyTely Nt Mey@a WS oo 27 76 |

Question 176: 2033 N @ (G NfeTEF NE3+ FErEa Torfe adifcwe z3?



A. &A1

B. SRORTIS
C. oF%

D. FRAWT

Answer: IRT@T

Explanation: b (&I 2033 SIfoT NfE fIfers{er 7 Peacebuilding Commission
(PBC)-17 Sorif$ fdift® 78 IRamT| SIfehE fige arenmeTs o3t afefofy agye a1
HIFSAT 2 WY T FAEA| 97 N (9@ Sifesiy PBC'T 73 14! orife 20« TE1T
SINOAT| Yo FETTIT Y00¢ TNOTRE TR AfFTw 3 f¥aT=rar SRICH Y (G AT
vy 5Ty fIFTE FRfG @ PBC sifde 231 awrGr iSasT (o1t 3% 766 (77 8 ST
ANRF TRFET =66 T0TF (NG So T3 4 FROTET T | SET, IONE JIGEE @
METHT RS NI N IR

Question 177: (FF 8@ FETT SIAPT NF1E TSI TA®R?
A. ST e

B. FIBHe e

C. O9ET (FEf0R 97

D. serfer et

Answer: & ey

Explanation: *Ife SIf¥® 2@ (¥ e 51fd® 2@@ ©IF NS e 67| e e &fies:
(s) af6 936 FTF© el () T 8 TEAFT| (@) T2 FIAG| (8) aFN@ A3 e ey
ST (7T AT (@) 27 (727 AT | SR (JFE SR, FIAT, (T, GAPTRE, Fia1 TRF,
(@S, SEPRE Tofe|

Question 178: faca (F1F TRHIGE FAFF TSN (W3] 58I 97?2
A. FT

B. &1

C. 9fs

D. o=y

Answer: Qliawﬂ

Explanation: F1¥ 13 & (R15-3G (86 (BIGIF FIAT A 92 §-39 sfde| 92 GIGIAF
(FHSTE ANCIFF T AATOEF 0T AW TG TP 579 oE@a 72 271 Te Aod 3237




IS Bfed R FE@ 932 97 @RS e (39 FE (731 (681 1 5% o032 anenme a3

©- 0 (FCT 8P| ST AT AT JET 92 (HESE AAIq0 AF AEH W 5FeT (A[© AT,

FAET A6 (F6 ITAHF S T I, FAET T A6 5T I, FAET A A A7 (A &
& 5 TF| 73 F 3% Ft A6 9 NPT HoEa ATT (@5 & AT (3@ Pveena
A7 PR I AT AT T oF o7 TTRTOR FIA GNFCEF FRFAT JH S (7371 8 97|

Question 179: GRS TN S (T IA6 (J TFTIT2T?
A. “’B‘i’lﬁ ©
B. TGS

C. @ &ad
D. =T

Answer: TN

Explanation: YT G331 215 a3 GE1ST A 0@2 15T T I | HSq© TF] I
fersf1er, 157y FeqATTa, G TTIRNE 37T J077 @1 [efaet, srftafos T3, T
SIS fefsfler, 7 syl AT (T A, MOV FOCN T 23w FTH 3 1T
P SSOIGS | AT JE1sT 2T IR (TS TAFT S iy Jees ffoey =
(@G ferstTer, Tt AT, AT [T, TAFN 2510 FIRFH BIIF I |

Question 180: (FAG FIIAEST T2

A. NFeS ST
B. RaTeRE
C. 33

D. q1Y

Answer: 1Y

Explanation: (3 S13fe% o1 THaTH TREETT (TSN FTRAISN To17 T | (FT;
Y, TEF, TaETS, U 25|

Question 181: f4Ea (F1H0 IRTTCCTR JREH STIHEHA?
A. TR

B. 2997

C. T3

D. feer



Answer: fewd

Explanation: sTITE SEd fSfat® IRTAEETE TG I APfed B oo | srftafes
STHT Y033 APNE o7 T made Foseam 316 | SER, GIFT =@ ST TIIR FAT 27
AT (|

Question 182: IRTWCT & IFF 9F(b-
A. SEfRTS oY

B. a6l feyxeer 59

C. o 39z 399

D. (576 999

Answer: (Nt 999

Explanation: sBiI-3CTeTS (G-K) (76 999 IRTAWCTE Jies 378 3 1o« (76 939| 8f6
(ST (FIBAT, ST, RIS, [FaRuR) 97 Soft TG T 9% FFEF F16 BF 27 L 8-¢¢
SIET | STACT ST B0 S>>0 [T 77 77 |

Question 183: COP 26-21 COP I $17?
A. FABTES AT TIET

B. FAHIE AT W M3

C. FIAHBIES A W AGIF

D. FAHIEN 3T w5 MNfow

Answer: F%@ IF W 6N

Explanation: Sfes:Ea FifF ST AR ¥ PABES A Wl MG AT COPI vd>¢
ST ST F SEHA Aefow 27 A | (1R (@ UNFCCC foqwa T ST & AF |

Question 184: IRTWCTT F-AR@ NI I3 T (FAMB?
A. TR (FF02 9

B. STojg el

C. =G st =y

D. g¢ H¢ Je37

Answer: T« Hq Je3]



Explanation: & 3@ (o I Wo[u Ao (AT | Tl 5o Fof5] 23T SASTATl Fat
BISEILRIG R RN

Question 185: TIS[F Tb IARF 9716 T63 THFEHF T IRAWTCR (F1F q0t ©IF STy
Ao FE?

A. T T

B. a7 74t

C. Fefgfer aar
D. Fa a4t

Answer: F5a 74t

Explanation: 53 A S3 A6 RAFES (S JEiF N R | 9997 foFo 8
SIS feed @ o1fRe 2@ FRESNEIT 4 A TRANT0T HET FER 98 9% 9 S SIS
%6 IARA 9316 T63 GRFETE T3 FHTa T ST AFIGH TF TAAT T g A6 F17
5118 = (A (A AT =731 FarF S fiifere 2@ |

Question 186: FRFAMCTR J FIMNSF AR (Fo0 (P NIF?
A. F1R, FBTNG

B. STT&1H, GIFT

C. Storgs, sBam

D. ITFfAT, fmereea

Answer: FEIHAT, e

Explanation: IR F¥¥ FIMM16 A5 O d (el TESlyg SiEea
G5 ISP SHIRTR FE| 200 AT afF T WE AT | TONE A7 T FHAT
@@ TSMSAG |

Question 187: STOIT BHTEIF (1 S “SHIGH’ 202
A. SFONE FETMET (@S

B. TEFTE] FHFOIMT AGICET Faas

C. Wafae FRHE AePToT MAus

D. Yeul 8 [@feFel TE] TSII6 ALTITE SSFF

Answer: You] 8 ool TET ToIfTe AGTITe TFF



Explanation: STSIT SHTEIE (R X A6 (ST ABIEF SIA@s afeft (@ T=wey,
SRR 432 Foo! fAfvesar TaFE Tqe A0 I (FIT | ST SHTEIF (FTET
T NPT (AT 36 T FA© bRE- S | 7=y 8 (ANfes [ 6a ik Fea3ew
I ROTE 9@ 26 FAT1| | T TG Spjel, TTmel, Twel 3 THTe] A ee
FAT ©| FAFI SO TN 6 T 8 THTT AGAT f[AF6w F© T A6, fuedy
ACACE HFF 3 TRF AR ToIT SRTGIEF TF NEod To/F RO AT TAGH B
IR

Question 188: FRAMCT GANS@ WIAI (T FAT 2@ F RYA-
A. s Yo ST JTe wafAfite

B. X008 ST FAt® YIS T HfarTel N2

C. 305 S 1 TFFTE FHCIA (o 8 st ffinee

D. SET NISENS

Answer: SEF NISENS

Explanation: 3faf& s bo SNENTG FRACT (B IOWIN ST SR | TP, GATONTD

T ANSENE TS 9T AATAT A4S SATINET ST 3 AHCTTAH Sl TR AN 7o
FR AGHTFAT 9T AT NN (NSNFF YA NI (¥ 3 TIAT AT ROTF 5Tefy F1
A 205 S Fqte NI FAGIAT (o 8 i) f{fEameme ssviwad, giife
ATTFORAS FAPNS ‘BFUY’ 3 THAY AP R HI@H 13 A [IET T@@| T foafp
ffEmenR qifor@ NHIE@ Ife@Ez@ el

Question 189: IAfeF (F@ SPIH Afefd® 2-

Answer: f3feasr 3w o3

Explanation: (F1 (W07 SR{afoF (@ ST fofde 2@ [{w [Ra@s=E S e
TS Fa® S3H1R® 2| HerFiote AT 3 & AT & "7 a3z o1 OS5I
91¥® 27|

Question 190: sfoEF 'ﬁrl“—f%m AT FASTIEAT AT~
A. UNCLOS



B. UNCTAD
C. CEDAW
D. UNCAC

Answer: UNCAC

Explanation: United Nations Convention against Corruption 37 j\«?llr@ﬂ EEICECNICERGE]
SEReTa (UNCAC) 2o A8 9120 JITORFEF ASafed e [SEE T2 §ie |
SIS ST AT 2000 FETH ABTEE I3 Y00¢ WA fGOTIE S 27| §fed
AT 3 AT TIF SFI@ JPho (771 3T AG5af (UNCAC) 97 715 =T fafee
HAWA YIS JT FAT AT (M7 JNTAT IS Tote = | (Toe: J1fIe 3 trading o1
TR | AP FE5Te A0 GA NS (T SIS A2 IYTBIF T

Question 191: STSTES FTNANET FIGEF SFTIf TAI-

A. (Toted =fe Aesres
B. T= fo(T6er SRrTe
C. *f& el ASfes we

D. TesRFel
Answer: STINON PO

Explanation: Sere1ad a8 (I9F BIS1RA], T 8 ST NFF STTolHF ACIF 3 FHFIS
fAEe FE O STTSIHF FE JE | STTSNAP JeAANET NIGF ST S XA
TRNONRPST| IRTGIS TS STTOIFP JHENET A T o], SNREH =T,
TS, NEOTONIE 8 TIIHS]|

Question 192: NI HIET (F@ “TNHT =S (conflict of interest)- 97 T&F 7 I4F
RIeT NaIE -

A. S FOTHF T Sfb® AF

B. zﬁaﬁaﬁmaﬁzﬂ%mﬂfsﬂ—w

C. W71 I 5fbe WM&

D. fae S2F1a! FHFOF fo7ed T AFIMET Tned I Sow AE

Answer: @ S2FIH! FHFOEF [H@F 1 MFIMET THHEF ¥ How AF

Explanation: WY{\ ' (Conflict of interest) a6 &M (T 6 foF “aFa SEsT T
% for| fad1foe FHFer mwﬁwﬁaﬁ%m&rw@waw 236 RS (FA aFe
TE BIH ABHIF FHOF 26 I3 J1 A (A HfFsTe AT AGET AT AF | 4




AT (V@ (TR T T3 Tad ‘a1 SRS FAFe f@d 37 SfFE@a Toheg i
SIT® M1

Question 193: F1E 3 TS JATSHITOIF Fefs TG (I w1-
A. TR FEETE TS

B. 317% (fgw

C. & AR 73

D. (afeFer 8 FNANET ToT

Answer: @fedFel 8 SUSUCSERRIRIE

Explanation: (96367 8 FETY FF™1F Fofd® 37| RN 5T MFF & @ 3
BfteTEANEF AP ToF | IF BT AZ 3 WS Wi (58] @ | I AE 8 TS G NogIToT
N A

Question 194: NARFSNT IFE FYIF NAIT SeTET 3 TGS YR KFPT =TG-
A. STIITEST INATCTR ST

B. fmye

C. AT AT

D. af8ama

Answer: JfFI@E

Explanation: AfHa1F F°00 oA (18 TGN (FR1T (T (FA112P T34 fofgre 9% 1
AFIET T 3§ AR O TSI, fFer-3Ter 8 Same; HfFeawa @ 9@ I7I F|
SIS AN [FONT SN F00 7@ ©F FREIETR Sifafas BT SR FevEm

I Siigaed ROTE 16 F&@ I{T7 |

Question 195: 'Tow 1T 5el NU=T'T FAT IE®RA-

A. C5F6
B. (5feG RGN
C. o T

D. 3T FI5
Answer: XTT FIG

Explanation: ST LRIEES iﬂlﬂﬁ, o $T6 ToBIF I NURIT FT IJE@T | O A(©, IFJ1A




SR fHT0IF | FOEE AT 3R] NFER OIF =] IE| TR [feF IEIHFOT (NF
ST S8 23|

Question 196: (T STTF NI Ao BT 3 "VF'-I7 THF [l FA© MH, ©f A=-
A. ool

B. YureTS

C. FETEN

D. Ty
Answer: DRUSIES

Explanation: JeE1E X A[ES A5 95 [TNEY 8 A0 T A JoF O 8 BT
AF AT fAHFT FA© M| IR TS AGFCF ATCEANFI A |




